GCF and LCM - Solutions

16 28

N N
4 4 4 @
VAN /\ N\
@ @00 O @ ®
2* 2°.7
GCF=2? =[4]
LCM=2*.7=]112]
9 15
N\ /\
® ® ® G
3 3.5

GCF==3]
LCM=3".5 =[45]

18 36 54
©) 9 6 6 6 9
/\ /\ /\ /\ /\
® ®® @ ®@0 ®o ®6 O
2.3 2%.3? 2.3’

GCF=2-3 =[18]

LCM =2°-3" =108

4 14 63
N\ /\ /\
@ @ @ @ @ 9
2 2.7 ®/\®
3%.7
GCF =]



4 6 8 9 ) 48
VANVANERYANVAN N
@ @ @ ® @4+ ® G 6 8
23.3 /\ /\ /\
@ @ @ & ©®
22.3
@
2°.3
GCF= 2°.3=[24]
LCM=2’.3" =|288
10 22 30
/\
@ 6 0 @ ® 10
2°5 2:11 ®/\®
2:3.5
GCF=[2]
LCM=2-3-5-11=[330]
27 36 90
A\ N N
B3 9 6 6 9 10
/\ /\ /\ /\ /\
® ® o 30 6 ® 6 6
3 2.3 2-3%.5

GCF=3=[9]

LCM=2>.3".5 =[540]



13 31 52

/\ /\ /\
O ® O 3 4 ®
1-13 1.3 /\
@ ’®
2’13
GCF=[1]
LCM==1-22-13-31=(1,612
8 42 56
/\ /\ /\
@ 4 6 @ @ 3
/\ /\ /\
@ @ © 6 @ 4
23 2.3.7 ®A®
227
GCF=[2]

LCM=2"-3.7 =[168]

3 4 4 6 4
N\ /\ /\
@ @00 060 6o
223 2.3 22.7
GCF=2? =[4]

LCM=2%.3%.7 =|504



